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> Sistema = diﬁ’(xl(t), t) =x;(1), diﬁ’(xz(t), t) =x4(1), dz'ff(x3(t), t) =- [

H,

M,

H, diff H, H,
+ —x,(t), diff (x,(t), ) = — x,(t) — —— -x,(t) : Sistema,; Sistema,; Sistema,;
]\41 2 ( 4 ) ]\42 1 ]\42 2 1 2 3
Sistema,,
d
Exl(t) _xg(t)
d
Exz(t) x4(t)
d H o H, H,x,(1)
— X (t)=-| — + — t) +
ar [Ml M | Ty
ix (5 = H, x, () B H, x,(t)
] a T, M,
> M =2;M,=1,H =2,H,:=4
=2
Myi=1
H =2
i H,:=4
> Sistemay; Sistema,; Sistemas; Sistemay;
d
Exl(t) =x5(1)
d
Exz(t) :x4(t)
i t)=-3 t)+2 t
i t 4 t 4 t
a4 xy (1) =4 x,(2) X, (1)
> Condiciones == x,(0) R x,(0) ZI—SE x,(0)=0,x,(0)=0
o2 100 ° "1 100 H, "3 T4 ’
.. 3 3
Condiciones .= x,(0) = E,xl(O) = E,)@(O) =0,x,(0)=0

3 ); evalf (SolucionParticular4, 3 )

_> SolucionParticular = dsolve( {Sistema, Condiciones}, {xl(t), X, (1), x5(1), x,(2) }) :
evalf (SolucionParticularl, 3 ); evalf (SolucionParticularz, 3 ); evalf (SolucionParticular3,

x,(2) =0.0962 cos(-0.795¢) —0.0213 cos(2.52 1)
x,(2) =0.114 cos(-0.795 ) + 0.0357 cos(2.52 1)
x5(2) =0.0762 sin(-0.795 ¢) + 0.0536 sin(2.52 1)

0y
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x,(2) =0.0900 sin(-0.795 ¢) — 0.0904 sin(2.52 1) 5)

=> plot( [rhs(SolucionParticularl), rhs(SolucionParticularz) ], t=0..10, color = [red, blue])
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=> plot( [rhs(SoZucionParticular1 ) s rhs(SolucionParticular3) ], t=0..10, color = [ red, cyan])
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=> plot( [rhs(SolucionParticularz), rhs(SolucionParticular4) ], t=0..10, color = [ blue, green])
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